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2019(0dd)

Time : 3Hrs. Sem. IIl - E/E & EC
EPG
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.

NT3023 NT3023

OR (3121a1) (i)
Write the name of different types of hydro turbines.

Describe their main constructional details.

fafr=1 yeR @ Sd exarsAl &1 9 foad |
S & 9919 &1 fawr § avfq a3 |

State and explain different sources of non- (iit)

conventional energy. Write the advantages and

disadvantages of each source.
6

AR URuR® GHuif & fafr=1 sral & 9adrsd
qAT ARAT B | YD Adl & dATdl aeIn
Il &t ford |

(iif)

OR(37214)

Describe the difficulties associated with solar .
power generation. Write its major applications. )
IR wfth U451 &) A S99 9

SfSATZAT BT I WX | THD YT ST

a1 fordd |

3 1620304

AR ¥ a9 99T u¥Ha 2fp R+
Jraferd 8—

(a1) ®rer ®

(@) Ot 4

(@) a=g=T |

(2) -a<h #

The main sources of production of biogas is:
(a) Human waste

(b) Wet cow dung

(c) Wet live stock waste

(d) All of the above

IR A B IR BT Y& Sd—
(31) 99 BT 2

(@) N T MR 2

(@) i Shifaa wavsR da=T

(%) Swiaa g+

In fuel cell the ............... energy is converted
into electrical energy.

(a) Mechanical

(b) Chemical

(c) Heat

(d) Sound

P.T.O
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Answer all Five Questions.

9l uig g & SR o

7.

6 x5=30

With a neat and clean sketch explain the working
of a thermal electrical power plant station. Describe
the function of major components of thermal power

plant station.
6

H—YR YEIHfd & A1l b o faga
efth Wic €I & 1 &) AT N |
ofd faga wifts wiic Wea & yqw s@yal
@ BRI B 9 B |

OR(3721dT)

State and explain the advantages and disadvantages
of a nuclear power plant as compared to other

conventional power plant.

TN URUR® eRp wiic T Jo-r 9
JRfe—R 2fh Wic & @4l a1 sI-—l &l
TS qAT ATET I |
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(vi)

(vii)

(vii)

(viii)

5 1620304

SHITHISOIR BT SUIHT—

(31) &ar &I T B A BT B
(4) ®Is drex ¥ BIdr @

(@) we Y # war 2

() 37 4 »ig &

Caking coals are those which:

(a) Burns completely

(b) Burns freely

(c) Do not form ash

(d) Form lumps or masses of coke

SfHT Braar a8 2 Wl—

(@) yofa: STt wirar @

(4) Tad= ®©9 A Sleldrl @

(@) g = qqrar @

(%) <7 o 99141 ® AT HIASAT B A
2

Thermal efficiency of the steam plant is of
the following order:

(a) 30%

(b) 50%

(c) 60%

(d) 80%

P.T.O
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4.

Draw and describe the single line diagram of hydro
electric power plant. Explain their working

principle also in brief.

Sd faorell 3fkh wiic &1 s disd S”U™
i qAgT vl HX | J&a7 § S9b e Rugia
@1 f AraEr &Y |

OR (3721d)

What are the advantages of diesel plants over
thermal plants? Why is lubrication of a diesel

engine necessary?

o Wiic & SUR SIvl{ Wilc &I /T o 27
Udh SIoldl 399 @ A-gd DI T MaTIdHdl
27?7

State and explain the criterions for the selection of

hydro power plant.
4

Sl 2fh wiic & g9 & fory wucEsl af
IdclIsd dAT AT BN |
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(x)

(xi)

(xi)

(xii)

7 1620304

g 3P drel drel Shoie dRf Har
3

(31 Siotel g UR

(d) ®ixATe 9 WX

(@) TIER HHIET dh WR

() sifel I R

Thermal efficiency of closed cycle gas
turbine plant increases by:

(a) Reheating

(b) Inter cooling

(c) Regenerator

(d) All of the above

9 9% 19 <A Wiic I oOHd
TEdr dedl a—

@) g A )

@) s FfT A W

(&) RO W)

(2) SWRida g+

Pelton turbines are mostly:
(a) Horizontal

(b) Vertical

(¢) Inclined

(d) All of the above

P.T.O
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U RE Wle & AR &4 (gA19)
THI—

(@) I TAY TE=ar @

(d) o9 *9 XEar @

(7)) FoT 9 XEdr @

(%) (31).(3) TAT (@) BIS A 3@l &

GROUPB

Answer all Five Questions.

gl uig g & SR o

2. Why thermal power station are always situated by

4x5=20

the side of a river of lake? Describe necessary

requirements for efficient combustion of fuel.

4

o vrfh I gA9m A< AT s @ fpaR
JARerd a1 @ HI? S99 & G a8 D
ford smazad ATATIBAIN BT qoi- B |
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(xiv)

(xv)

(xv)

(xvi)

9 1620304

Foic Wic doldex AhEdl 8—
(31) @aa A fafezor &1
(@) daa v fafexor &1
() e o SUANT &I

() 39 9 BIg 78

A pyrometer is used for the measurement of:
(a) Direct radiation only

(b) Diffuse radiation only

(c) Direct as well as diffuse radiation

(d) None of the above

Uh URRIHCEY &1 SUAIT —

(31 @aa A fafezor w1 79w & forg
BT @

(@) dad v fafexor & 797 @ forg
BIdl @

(@) g gt & 91 o fafezor ot
A9 & ferg gidr @

(%) SWidd & 4 ®Is L)

Most widely used material of a solar cell is:
(a) Arsenic

(b) Cadmium

(c) Silicon

(d) Steel

P.T.O
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